
SAP ABAP table J_1B_CIAP_FACTOR {CIAP Factor}

J_1B_CIAP_FACTOR

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

BRANCH [CHAR (4)]

GJAHR [NUMC (4)]

PERIOD [NUMC (2)]

WAERS [CUKY (5)]

J_1BBRANCH

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

BRANCH [CHAR (4)]

 J_1B_CIAP_FACTOR-BRANCH = J_1BBRANCH-BRANCH 
0..N

0..N

T000

MANDT [CLNT (3)]
 J_1B_CIAP_FACTOR-MANDT = T000-MANDT 

0..N

0..N
T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 J_1B_CIAP_FACTOR-BUKRS = T001-BUKRS 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 J_1B_CIAP_FACTOR-WAERS = TCURC-WAERS 

0..N

0..N


